Chapter 19

Problem 19-1
Contribution margin ratio = 75%

Problem 19-2
Decrease in operating income resulting from ad campaign = $5,000

Problem 19-3
Break-even in units with unit sales price of $100 = 33,750 (units)

Problem 19-4
Break-even in units = 12,750 (units)

Problem 19-5
Break-even in parking-space hours = 500,000 (hours)

Problem 19-6
Break-even in sales dollars = $20,000

Problem 19-7
Estimated operating loss at 38,000 units = $1,000

Problem 19-8
Break-even in sales dollars = $4,500

Problem 19-9
Sales volume required to maintain current operating income = 20,000 units

Problem 19-10
 Pentium’s operating income with price and process changes = $300,000

Problem 19-11 Clownfish operating income with new heating & lighting = $202,250

Problem 19-12
 Average contribution margin ratio assuming new sales mix = 45%

